(Sydney Language Solutions/ Korean Beginners/ Sarah Yong)

Practice

12002 (10002 +200%)= & 0|42

5002 = g 8002 = 2l

30008= A 60002 = 2l
21002 (20002 +1002)= & il

57002 (50009 +7002) = sl B 2]

15,0002 (10,0008 +50002)= DIQ &S

18,0002 (10,0002 +8000%)= Ot 2

41,0008 = AlDH M 450002 = AlEF =
310,0008 = AlpalorRl 510,0008= 4] 2l

Dialogue 1
A: O BEXI 2 0HO 27 (i baji eolmayeyo?/ how much are the pants?)
B: 50,000 01 0l 2.(0 man won ieyo)
A: US HIME. & Z0ITH L.
(neomu bissayo/ it’s too expensive) (jom kkak kka Jjuseyo/ please give me a discount)

B: 22, S &0 K. (andyeoyo/ No) (jeonchalje yeyo/ it’s a fixed price)

Dialogue 2
A: O SEHOl 20O 22 (ii neck tie eolma yeyo? / how much is this neck tie?)
B: 30,0002 0] 0il 2. (sam man won ieyo) |
A: LR HIMNR. & 20I=HIL.
(neomu bissayo/ it’s too expensive) (jom kkak kka juseyo/ please give me a discount)
B: 27,0008 8 == K| K. (iman chilcheon won man juseyo/ please give me just 27000won)

A: Ul, ZXAFELIC (ne, kamsahamnida/ yes, thank you)
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